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DATA Residuals DX per station (all tracks) before corrections
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DATA Residuals DX per station (all tracks) after corrections
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DATA Residuals DX per station (all tracks) after corrections
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DATA Residuals DX per station (all tracks) before corrections

Profile of dXsmo versus xsmo (all tracks) ista=2

>0.04f-4\

0.02

-0.02
-0.04
—-0.06

-0.08[-

g) 06 [ e e s
e SPIIN@S it

\i\\\\i\\\\i\\\\i\\\\

-0.02

-0.04

-0.06

-0.08

30
Xsmo

Profile of dXsmo versus xsmo (all tracks) ista=5

10 20

g [ —— [ I [ [ TSN [T

grsphnean

10 20 30 40 50
Xsmo

-30 20

g).OG
)

X
.04

0.02

-0.02

-0.04

dXs

.O .

N
HH*HH*HH'\

S

o

=
HH*MH*HH*HH*HH'

Profile of dXsmo versus xsmo (all tracks) ista=3

spline5 fit

_

30
XsSmo
Profile of dXsmo versus xsmo (all tracks) ista=6

Ll ’ [ T ’ TR R R TR R R TR R R
—20 -10 0 10

sphne5fﬂ

-----------------------------------------------------------------

Profile of dXsmo versus xsmo (all tracks) ista=4

° H H
_03; ................................................................................................ R S
g) : sphne5fn | |
-0.02
: Il Il ’ Il Il Il Il ’ Il Il Il Il ’ Il Il Il Il ’ Il Il ’ Il Il
-30 -20 -10 0 10 20 30
Xsmo
Profile of dXsmo versus xsmo (all tracks) ista=7
gos j ......................... o B R
X [ spline5 fit % % % 4
Of g gl
0,02 RYLY B S —
L Il ’ Il ’ Il ’ Il ’ Il Il ’ Il Il
-60 -40 -20 0 20 40 60
Xxsmo



DATA Residuals DX per station (all tracks) after corrections
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DATA Residuals DX per station (all tracks) after corrections
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| Profile of dXsmo versus xsmo (all) |
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